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Genera] instrictiens. Please read the [ollowing mstruct.]ons caréful]y _
= Do not break the seal on this bookiet until instricted to do so by the mwgﬂatﬁr

Anyone breaking the seal prematurely will be evicted from the exammat]on halt and: his /ey
candidature will be cancelled. ' -

» Fill in your Name and Roll Number on the detachable slip below.

» Do not. dxsturb your neighbours at any time. _

- Make sure vou do not have calculators mobile lephones, papers, books, etc., on
your person. Anyone engaging in 1U€ga] exa

'nat;on practlg:eb will be xmmech—
ately evicied and that person’s candldat e will be' cance]led " '

» When you finish the exanrination, h d ir this booklet to-the mvxg:]ator

Don Cwrite below this line.:
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Part1 -

In'structions-

» Check that ths booklet’ has pages 1 Lhrough 22.
page is marked wilth EEE 2010 MPhil/PhD.
» Part 1 consists of 25 mult:p]e-

Also check that the bdtmm of eaéh

choice- questlons Each queslion js IoT]owed by four

possible answers, at least one of mhxch is c0rrect 1f more than one- choice- 1s correct,

-« For ea,ch quest;on you wil] gel 2 marks 1fyou choose only" Lhe best answer. ]f you

then you will get~0 i'or that question. However, if You
choose something other thap the best answ

will get —2/3 marks for that quest;on
* You may use the blank pages at the engd

thoose none of the, answers,

er or mu]tlp]e answers, 1hen you’

of thls bookletl, marked Rough wor}c

Jo rough ca]cu]atxons drawmgs etc. However, your ‘Rough work”, 1é-n]] not be’ read

or checked. _

“You may begin now, Good-Juck!

constants, K is capital, L }s labour andY js output

compelitive producers take the nominal wage rate W and the pr:ce level P as gjven and

]J]f ](“_)OUJ Supp}v ScI]e(}U]e JS L - - r+ 61[‘ j

employ Jabour so as to maximize proft.

where v and 5 are pos;t;ve conscancs
Producers and workers have perfect information about F and W

QUBSTION i. The Jabour market will clear if and onl) if
(a) B> ~/6
(b} B < ~/6
(c) B> 6/
(d) B < 6/~
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(d) for high values of Pit wijy be;-:vertica}; for sohﬁg.mid—range values of P it iy be

upward sloping: for Jow values of P it wi) be vertical agaip

- (a)'shif_t :u_p . y -
(b) shift down S ' E

" (0) shift to the left L '
{d) shift to the right

(2) shift up . .

(®) shift dowa - B o

- {e) shif t':.oi t.hgleft IR B ST . CL
' (d) shig t.;;';-'the right- .0 oy R .

gets YA - ,\Y;, and group B Ilgets Y8 <o A, where AE(0,1) s a constant. The
consumpiijon, function of group A4 js 0A. _ €t ca¥Y? ang the consumption funcijon of

group B s C'B_-z_ ¢+ cgY 8 where () « c,; <ep <1, ie, the two &T0ups have djfferent
ConsSUImnption Propensitjes. - ’

the tota} income ¥ s distributed émong ‘these two ETOUPS in such 5 way that group A
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(a) 16/37

(b} 21737

S (o) 25/37
BRC)E
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QUESTION 16. Events 4 and B are
(a) not independent
{b) independent
(c) conditionally independent

i e S

(d) unconditionally independergt

TP,

The_ next four questions._ are based or?‘ the following data. Consider ap ex;:]qé;rigel
economy with agents I-and 2 and goods t and y- Agent I's endowmént is (0,1) {ie] no

good z and I unit of good y} and 'égent_2’s endowment js (2,:0)—(;'.5»., 2 units of good T and
no good y). The agents can consume only honnegative amounts of £ and v

QUESTION 17. Suppose"éggnt ) ]exjcographica]]y prefers z to y, i.e., belween any two
bundles of 2oods, she strictly prefers the bundle containing more of z, and if the bundles -

. contain equal amounts of x, then ske s_Lr;ctl_y'preferrs the bundle with more of .- Suppose
- AgenL. 2 treats 1 ang v as pé'r_rect'-rsubstrit'ui.é's;-i.e.; ‘between any two Bund]es_(z,y) and.

(', %"}, she 5tri_ct]y- p;_efers (x,y) ifaﬂd'only; ifx +y > ' y’ ‘

’ nge competitive equilibrium allocation for Lbis'economy; is ) C ' S .-
(2) ) gets (0,1) and 2 gets (2,0) ' ‘
(b) 1 gets (2,0) and 2 gets (0,1) _
(€) 1 gets (3/2,0) and 2 gets 0721
{d) 1 gets (1,0) and 2 gets (1.1)

QUESTION 18, Suppose agents 1 and 2 have the preferences described above. The set
of all possib)e compelitive equilibrivm prices consists of ali Do > U and p, > 0 such that
() ve/py, =3 ' S | -
(®) pe/py, 21 ' '
“e) pespy <
(d) ps/py >0

QUESTION 19, Now suppose agenl ] Iexicographica]l}-' prefers y Lo  and agent 2 treats ¢
and y as perfecy substitutes. The set of all possible compelilive equilibrium prices COnSiSiS‘::
of all p. > 0 ang Py > 0 such that

(2) pe/py, =1 - :

(h) pasp, > 1 ' ‘ -
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(d) includes all allocations {z,1) for agent 1 anpg (2~z @) for a

A 2 umjts of 'I, arrd b wnjts of z,)
(2) 4 gets 1, Yand B gers €1,1) ' .
A5 A gets 2,1) 4ng Bees @y "

(c) A geis (1/2:, 3./2):'and B gets (3,-]/2) .

(d) A BelS (3,2) ang B gets (9,0 -

Y. Suppose the consumer
demands bundle (", y*)

- Now Suppose the ‘seH_-er of gbod T offers a “buy One, get one free”
scheme: for each un;"t.' of good Purchase(

QUESTION 22. A consumer has the utility Vfu_nction_ ulz, y) =

S‘ivgn this Scheme, §ubp03e the COnsumer buys bundle (4. yd)and
or free. Which o_n,e-df the followipg :sifatenxen&-._}nus't' be true?.
(2 s S st e
' (B) z4 > o -aﬁd,:y;;' =y -
() 24 > " and v <yt o N
(d) Ta =z"an4 Ya = y* >

gels ap additigna] Zg :

=

UBSTION 33 Consider 4 Bertrand dyo
7€0US good apg set prices 71 and p., Tespectively,

eSp. firm 2) sells 5 ~ P (resp. 5 _ P2)
n ach firm sejjs (5~p)/2 Firm ) has o

(b)PJ-‘—‘3=P2 P
(c)-p;=33ndp2_:--2- )
(d) p, =3and p, j5 o or 3
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-QUESTION 24. Consider a Stacke]berg duopoly w:th firm 1 as Lhe leader and. ﬁrm Zas

Lhe Iol]ower II{q,,q;) is- the Stackelberg ethbnum then

(a) Brm I's optimal )soproﬁt curve and firmi 2’s reaction curve -inter's.gc,_t_-al. {gr;g3)and .

~are tahgential at (g, ¢,)

(b) firm 2% optimal lsoproﬁt curve and firm 1’s reaction curve mterseet at (g, ,L’}z) and

‘are tangential at t91, 92) A

(c) ISOPTOfiL curves of the two firms intersect at (g1; qﬂ and are tangential at (q; 92)

(d) reaction curves of the two firms intersect a t (g3, qz) .

QUESTION 25. Firm 1 is the potentlal entrant into a market jn which firm-2'3s Lhe

incumbent monopolist. Fjpm 1 moves frst and chooses to enter” or "not enter”, If it
does “not enter”. then ﬁrm ! gets profiL Oand firm 2 gets the mono]:uoly proﬁt 10. 1l frm 1
C'enters”, then firm 2 chooses to “Aght” or "not Bght”_ If firm 2 fights, then firm 1s profit

1§ —2 and Arm 2% proﬁt is 6. 1l -firm 2 does “not fight”, then frm I's profit jg 2 and firm
2’s profit is 8. Firm 2's strategy of “fight” js best interpreted as Dot
{(a) a commitment :
b) a non-credible threat 7
(c) a punauvc action - . . ' : ; _ ) i
=(d) acquiescence - o ) S L

Bnd of Part I. : T LT
Proceed to Part ]I of the examination on. Lhe next page. ' ‘

~

~
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QUEST] ON 26

distri'but.ion for

di 8gram-the vy

the Size of the test. C]earhf
ves taken by the power functioy,
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QUESTION 27.A consumer has a direct utility. f‘unctxon U(:r:, zg) =- I;) I"Iz Good

53 Is a dlscrele good the onlv poss:b]e levels of consumptlon of good 1 are :-:] o and”

ry =1 Assume that j(O) G and pz = 1 (p‘ is the pr:ce of good  for i =1, 2)
(A) What restr:chon mnst yoay sahsfy so that 1; = 1 in ‘equilibrium?
(B) Derive the a]gebra.:c form of the indirect utxhty function.

Answer. N

~
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